
Choose the option having similar meaning to Capital word. 
PIOUS 

(A) Religious 
Afraid 

A (B) Sympathetic 
(D) Faithful (C) Series 

REPLENISH 

(A) 
(C) Accelerate 

2. 
Restore (B) Recharge 

(D) Exhaust 

Choose the option correct for the sentence. 

Ahater of knowledge and learning 
(A) Bibliophile 
(C) Misogynist 

. 

(B) Philologist 
(D) Misologist 

Choose the correct option for filling up the blanks. 

In to picking up milk from the grocery store we also need to get some bread 
because my cousin ate all of it in past weck. 
(A) further 
(C) aftermath 

(B) addition 
(D) besides 

In each of questions given below, a sentence is given with three words in bold. Choose the 
option which gives the correct sequence of those words to make the sentence grammatically 
and contextually correct. 

5. The H.P. Ordinance not only conflict (A) guaranteed fundamental rights but is also in 

violates (B) with existing (C) personal laws. 
(A) ABC 

(C) 
(B) CAB 
(D) ACB BAC 

The Supreme Court has been asking states to reservation (A) quantifiable data to justify 

(B)their level of produce (C). 
(A) CAB 
(C) BCA 

6. 

(B) ACB 
(D) CBA 

Choose the correctly spelt word. 

(A) Harasment 
(C) Harassment 

(B) Harrasmant 
(D) Haresment 

7. 

(A) Consensus 
(C) Consencus 

(B) Concensus 
(D) Consansus 

8. 
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Select the most appropriate option to change the sentence from Direct Speech to 

Reported Speech and vice vers. A 
Sernes 

T am gong out tonight" Luxnmi said 
(A) LuNmi said that she was going out tonight 

(B) LuNmi said that she was going out that nignt. 
C)Luxmi said she was going out that night. 
D) Luxmi said that she will be going out that nign. 

10. The King ondered that they should celebrate their victory 
(A) The King said, "One should celebrate their victory 
(B) The King said, "I order everyone to celebrateC. 

C)The King said, "We should celebrate our victory". 
(D) The King said, "We may celehrate". 

The given phrase in bold may or may not contain an error. The options following can replace 
the incorrTect phrase. The correct phrase that is to be replaced will be your answer. 

|I. Everything is funny as long as it "IS HAPPENING TOO" somebody else. 
(A)has been happening for 
(C) was happening to 

(B) could have happened to 

(D) is happening to 

Choose the correct meaning ofthe idiom as underlined. 

12 Everyone likes her since she always remains in high spirits. (A) talkative 
(C) well dressed 

(B) cheerful 
(D) courteous 

13. Hewas a King who ruled hissubjects witha high hand 
(A) oppressively 

(C)conveniently 
(B) kindly 
(D)sympathetically. 

Select the option which best expresses the sentence in Active/Passive voice. 

14. Somebody told me that there had been an explosion in the Mall. 
(A) Iwas told by somebody about the explosion in the Mall.
(B) Iwas told about the explosion in the Mall. 

C)Iwas informed that there was an explosion in the Mal. 
(D) Iwas told by somebody that there had been an explosion in the Mall. 

Choose the correct option for sentence improvement if any. 
He has fallen out with the girl he wanted to marmy. 
(A) fallen off 

15. 

(B) fallen in love 
(D) (C) fallen for no improvement. 
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A It is the time the three years old is learming how to read and write 
16. 

(A) was leaming 

(C)must learn 
(B) has learning 
(D) no improvement 

Series 

17. 
(A) 97 (B) 

C) (D) T 

18. 
A) (B) 

C) (D) 14 

19 

(B) 3V 
(D) Y6 

(A) 

(C) 

20. 

(A) (B)a6 H 
C) (D) 

1. 

(B)o 
(D) T+« 

(A) rHs 

C) JH5 

(A) r (B) 

C) er (D) fe 

23 

(D) B 

24. 
(B) on 

(D) Jnsn 
(A) 3Ta 

(C) 
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25 (B) A 

(A) TA 
(D) 

26. 

(A) TTin% 

C)Tat% 

(B) *qt 

(D) T7HTT6 

(B) e 
(D)g7 

(A)37 

(C) HIA 

28. 
(A) f5 (B) 

(C) (D) a 

29. 

(A) (B) 5 

(C) (D) *T 

30. 

(B) TT 
(D) +TAT 

(A) 

(C) a+37T 

31. 
(A) V (B) 1NT 

(D) 

32 
(A) ATef (B) 
(C) gia 

Jallian wala Bagh massacre took place on the festival day of 
(A) Decpawali 

(C) Lohri 

33 

(B) Baisakhi 
(D) Holi 
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(B) d 

(D) Be 
A (A) tUTa 
Ser 

Which movement is knownas August Movement/ Krantr? 

(A) Non Cooperation Movement 
(C) Swadeshi Movement 

(B) Khilafat Movement 

(D) Quit India Movement 

(A) 7ArT HTTtAA 

The Non Cooperation Movement was suspended in- 

(A) 
(C) 1921 

5. 
(B) 1929 

(D) 1927 
1922 

1929 (A) 1922 

(C)1921 

(B) 
(D) 1927 

The Pir Panjal range is located in which neighbouring state of Himachal Pradesh? 

(A) Haryana 
(C) 

3o. 
(B) Punjab 
(D) Uttarakhand Jammu & Kashmir 

(B) T 
(D) rS 

A) aRM 

Which among the following states of India has the largest coal reserve? 
(A) Andhra Pradesh 

(C) WestBengal 

37. 
(B) Jharkhand 

(D) Madhya Pradesh 

(A) HTT TTT (B) HTTET 

(D) tT 

soils are mostly confined to river basin and coastal plains of India? 
(B) Black soils 
(D) Red soils 

38. 
(A) Alluvial soils 
(C) Laterite soils 

(B) AE 
(D) TTE 

(A) 6 
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39. Which of the following groups 
ofrivers originate Irom theHimachal mountains 

(A) Beas, Ravi and Chenab 

(C) Sutluj, Beas and Ravi 

(B) Ravi, Chenab and Jhelum 

(D) Sutluj, Ravi And Jhelum A 
(B) T7, PT A4 

(D) HaM, TAI 4 

40. In which state do the Monsoon arrive first? 
(B) Maharashtra 

(D) Himachal Pradesh 

(A) Assam 
(C) Kerala 

(B) H6TRIT 
(A) 
(C) 

(D) HTeM T 

41. What is the name ofthe highest mountain in India? 

(A) Kanchenjunga 
(C) Sri Kailash

(B) Nanda Devi 

(D) Jong song Peak 

(B)T& 
(A) T 

T C) 

State animal of Himachal Pradesh is? 

(A) Tiger 
(C) 

42. 
(B) Lion 
(D) Snow leopard 

Bison 

(B) (A) 
(C) (D) RgT 

Which is the biggest natural lake in Himachal Pradesh? 

(A) Renuka Lake 

(C) 

43. 
(B) Rewalsar Lake 
(D) Brighu Lake Khajjiar Lake 

(A) si 
C)aTT SÍTT 

(B) RarR T 
(D) 

44. Shimla was declared as summer capital of British India in year?
(A) 
(C) 

1858 
1869 

(B) 1864 
(D) 1871 

1858 (A) 
(C) 

(B) 1864 
(D) 1871 1869 
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Lary Hytroclec tr Povaer Prgect is male on 
(A) Parhat 
(OBaspa 

) aner 

D)Bean 
Serien 

(A)7 (B) 

(D) 

Which cultural festival is celebrated at Varanass of the h:lls or ( hhoti K.ash 

(A) Maha Shivratri 
(C) Sazo 

(B) Lonar 

(D)Doongri 

(A) Prrfa (B) 

(C) D) 

As seen in recent news "E-Daakhil Portal" is associatcd with which Sector? 

(A) Right to Education 

(C)Life Certificate 
aH4 TT aa "E-Daakhil Portal" R fT? 

(A) fTTTT 

(B) Consumer Complaints 
(D) Income Tax 

(B) 3Ta d 
(D)T46 (C) A ATTYA 

fraction ofRajya Sabha members retire after every two years? 

(B) 1/2 

(D) 1/6 

48. 
(A) 2/3 
(C) 1/3 

(B) 1/2 

(D) 
2/3 (A) 

(C) 1/3 1/6 

If dog is called cat, cat is called lion, lion is called ox, ox is called cock, cocks called 

elephant and eiephant is called donkey, then farmer ploughs with which animal" 

(A) dogg 
(C) donkey 

49 

(B) lion 

(D cock 

(B) 
(A) 

(D) (C) T 

Ram is taller than Shyam but not as much as Rajan Arjun is taller than Sohan who s shorter 

than Shyam. Who is the shortest? 

(A) Rajan 
(C) Ajun 

50 

(B) Ranm 
(D) Sohan 
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A Bte (B) 7 Series 
(A) 

(D) C) 

S1 Shyam Lal goes 8 Kms in the west fromacertain point. Then he moves tohis right 

and goes 8 Kms. In the end he goes 25 Kms. in south east direction. How far is he 

from his starting point? 
(A) 10Kms (B) 20 Kms 

(C)15 Kms (D) None of these 

(B) 20 f1 (A) 10 t 
(C) 15 . 

52. Ir'a' means'+', 'b'mcans'"', 'c'means'+"and'd'means'x' then 16a4b3c4d2=? 

(A) 10 (B) 17 
(C)18.5 (D) 21/2 

(B) 
(D) 21/2 

17 (A) 10 
(C) 18.5 

53. Which one of the following is different from the rest? 
Barley (B) Ground nut 

(D) Peas 
(A) 

(C) Mustard 

(B) T 
(D) e7 

(A) 

(C) A 

54 Ina code TOGETHER' is denoted by 'RQEGRICT' then 'FRIEND' will be denoted by? 
(A) DSHGFL 
(C) GGLFDT 

TOGETHER RQEGRICTÀ aT TT t. a FRIEND' 3 Bs À BAA 

(B) FLGGTD 
(D) DTGGLF 

(A) DSHGFL 

(C) GGLFDT 
(B) FLGGTD 
(D) DTGGLF 

55. Ram'sposition is thiteenth from upwards in a class of 53 students. What will be his position 
from downwards? 
(A) 42 (B) 43 

(C) 41 (D) 40 
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A (A) 42 (B) 43 
)41 (D)40 Series 

Fcbruary 1. 2009 was Sunday What day of the weck a as on March 1 u, 2011 

A)Wednesday (H) Tuevday 

Frnday (D) Sunday 

A) 

(D) 

Fll in the blanks with Correct option. 

200, 193. 179. 158 
135 

95 
(B) 133 

(D) 130 
A 

C)132 

200. 193. 179, 158. 95 
(A) 135 (B) 133 

C)132 (D) 1300 

S1.49.44.42.37 
35 A) (B) 34 

(C) 33 (D) 32 

S1.49.44.42.37. 
34 (B) 

(D) 32 
(A) 35 

C) 33 

Find the odd one out 
Ranjit Sagar lake, Gobind Sagar lake, Maharana Pratap Sagar. Prashar lake 

Prashar lake (B) Gobind Sagar lake 

(D) Ranjit Sagar lake 
(A) 
(C) Maharana Pratap Sagar 

TT HT STA, ME HIT SÍT7, HERTM ATY TTT, TUTT S 
(B) ATT STT 

(D) TA HIT ST 
(A) T SA 

(C) HErTT ATY ATT 

If in a code CAB' is written as 312, 'BIG' is written as 297, then "FEED' will be wrntten 

code as 
60 

(A) 6554 

C) 6534 

(B) 5444 

(D) 5464 

I2022-Series https://snowstudy.in



A TABÀ 312R "BIG 297 R at. à H ai 

FEED RT T 

(A) 6854 
C)6$34 

Series 
(B) 5444 
(D) 54644 

TEverest is to Himalayas then Mount Abu is to- 
(A) Nilgin 

C)Vindhyas 
(B) Aravali 
(D) None of these 

(A) (B) R 
(C) (D) À 

Aaswer the following three questions after reading the passage below: 
Eight bares are placed one above the other. Only two boxesare placed between box 

U&T.Onlyone box is placed between box T&R.Only two boxes are placed berween 
bares R& V. Box Vis placed below box R. Three boxes are placed between boxes 
S&Q.Both S&Qboxes are placed above box T. Box Wis placed below box V. No 
box is placed berween box S& boxP. 

2How many boxes are placed between boxTand box S? 

(A) None 

(C) 
(B) 
(D) More than 3 

1 

3 

(A) (B) 
(C) D) 

63. Which ofthe following box is placed at the bottommost position? 
(B) U 
D) None of these 

(A) W 

C) R 

(A) W (B) U 

(C) R 
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64. How many boxes are there between box W and box R 
(A) None A (B) 
(C) 2 (D) 3 Series 

(A) TÉI (B) 

(C) (D) 

65. A student goes to School at the rate of 2% km/hr and reaches6 min late 1f he travels at the 

speed of 3km/hr. he is 10 min. carly. What is the distance to School" 

(A) 4 km (B) 5km 

C) .5 km (D) 4.5 km 

5 fTt 2% km/hr A À AÈ A 6 f472 zhà ~m 7 3km/hr r 

(A) 4 f 
(C) 3.5 5. 

(B) 5 

(D) 4.5 

66. Find value of x in- 

28.5 x 34 +2320+ 8-(36) -x 
(A) 51 (B) 47 

(D) 37 43 (C) 
x 1 6 
28.5 x 34+ 2320+8-(36) -x 

(B) 47 
(D) 37 

(A) 51 
(C) 43 

67. 30% apples out of 450 are rotten. How many apples are in good condition? 

(A) 125 

(C) 2400 

(B) 315 

(D) 180 

(A) 125 

(C) 240 

(B) 315 

(D) 180 

68. Veena obtained an amount of Rs. 8376 as simple interest on a certain amount at 8%p.a. 

afer6 years. What is the amount invested by Veena? 

(A)Rs. 16660 
(B) Rs. 17I80 

(D) Rs. 18110 
(C) Rs. 17450 

(B)Rs. 17180 

(D)Rs. 18110 
(A)Rs. 16660 

(C)Rs. 17450 
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f HCF (a, b)- 1Sand axb- I8O0 thenl (CM(a, b) is 
(B) 00 

(A (D) 120 

(B) 900 

(A) (D) 120 

75 of 2 is cqual to- 

(A)3 
() 

(B) 15 
(D) 0.15 

1S 

(B) 15 

(D) 0.15 

In a rhombus, ifits diagonals are 19 cm and 13 cm. its area will be- 

(A) 19+13) cm 
C) 19-13) cm 

(B) (19x13) cmn 
(D) 244.5cm 

(A)(19-13) cm 
C) (19-13) cm 

(B) (19x13) cm 
(D) 244.5cm 

If the area of a circular garden is 15400 m', then its perimeter is 
(A) 440 m 
(C) T1Om 

220 m (B 
(D) 550 m 

(A) 
C) 

440 m 
110m 

(B) 220 m 

(D) 550m 

Which of the following is a synthetic drug? 3 
(B) Opium 
(D) Hashish 

(A) Charas 

C Heroin 

(B) 
(D) TT 

(A) 7 

Which of the following is not a radioactive clement? 

(A) Uranium 
C)Radium 

(B) Boron 
(D) Plutonium 

(A) u4 
(C) eq4 

(B) 
(D)efra 
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Omega- Tatty acidis not found in- 

(A) Fish oil 
(C)Flax secds 

(B) Walnuts 
(D) Lettuce Seri 

(B) te 

(C) (D) TM 

o.Mirge can most likely be associated with whichof the following phenomenon-

(A) Retlection
(C) Dispersion

(B) Refraction

(D) Dittraction 

(A) dA 
(C) 

(B) 34 
(D) frad- 

oil is used in froth flotation process? 
(A) Coconut oil 
(C) Pine oil 

(B) Olive oil 

(D) Kerosine 

(B)gA d 
(D) A7 

(A) 

(e 

78. Salmonella Typhi bacteria causes life threateningdisease of- 
(A)elanus 
(C)Trichinosis 

(BA Juberculosis 

D Typhoid 
(B) 74T (A) 

(C) AiT ()H 

BCG Vaccine is used to prevent- 

(A) Measles 
(C) Diphtheria_ 

79. (B Tuberculosis 

(D) Leprosy 

(B) (A) HT 

(C) yiRAT 
(D) TyttT/TE TT 

80. Colours of light which deviate the least and most. 
(B) Redand Blue 

D) Green and Red (A) Red and Violet 

(C). Violet and Blue 

(B) HT 
(A) 
(C) 

* * * * * * * * 
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